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Question 1

Question Type: MultipleChoice

What are two subjects of an Identity & Access Management (IAM) policy?

Options:

A- Administrator

B- Resource Group
C- Service IDs

D- Access Group

E- APl Keys

Answer:

C,D

Explanation:

https://cloud.ibm.com/docs/account?topic=account-iamoverview


https://cloud.ibm.com/docs/account?topic=account-iamoverview

Question 2

Question Type: MultipleChoice

Which option would guarantee resources for future deployments and cost savings by using a one or three year contract term?

Options:

A- transient virtual servers
B- reserved virtual servers
C- dedicated virtual servers

D- public virtual servers

Answer:

B

Explanation:




IBM Cloud Virtual Servers reserved instances offering is a great option if you want guaranteed resources for future deployments and
cost savings. You choose between either a 1 or 3-year contract term for your reserved capacity. Within that reserved capacity, you can
reserve a set of up to 20 virtual server instances of a specific size and provision those instances when you need them. You are
guaranteed this capacity within the POD and data center of your choice for the life of the contract term.

https://cloud.ibm.com/docs/virtual-servers?topic=virtual-servers-about-reserved-virtual-servers

Question 3

Question Type: MultipleChoice

Which IBM Cloud integrated open source version control system can be leveraged to expedite collaborative development?

Options:

A- IBM Rational Team Concert
B- kubectl

C- Git

D- Cloud Foundry


https://cloud.ibm.com/docs/virtual-servers?topic=virtual-servers-about-reserved-virtual-servers

Answer:

Question 4

Question Type: MultipleChoice

A client consumes 2TB of 2 IOPS/GB Endurance storage and 1TB o( 10 IOPS/GB Endurance storage. What will the client spend
monthly for the required storage if 2 IOPS storage costs S0.12/GB per month and 10 IOPS storage costs S0.48/GB per month?

Options:

A- 5480
B- $720
C-S820
D- S500

Answer:

B



Question 5

Question Type: MultipleChoice

A client has a mission-critical core business and data workloads running on IBM AIX in their datacenter today. They are on end of life
hardware, and are not planning to make major application changes for the next few years . Which option provides them a supported
environment with minimal application changes?

Options:

A- IBM QEMU Service
B- IBMAIXVSI
C- IBM Power VPC

D- IBM Power Systems Virtual Server

Answer:

Question 6




Question Type: MultipleChoice

A media company needs to migrate existing on-premises data to the IBM Cloud. The data size is around 400 TB which will be accessed
by the applications. The data needs to be migrated securely and in a short period of time.

How can this be achieved using IBM Cloud?

Options:

A- Compress the data and migrate it over a VPN network.
B, Migrate the data over a VPN network.

C- Migrate data over Data Link Connect on Classic.

D- Use a Mass Data Migration device from IBM Cloud to move the data.

Answer:

C
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